EFEEKERE RBRBER—FE L 2% KI5 (FKith)
R [Z3 % | HNL SRR 202210059 202210200 202210311 202210531 202210712 202210819 202210969 202211095 202211698
PR 7K A A H 2022.4.11 2022.5.17 2022.6.6 2022.7.19 2022.8.23 2022.9.12 2022.10.11 2022.11.7 2023.3.1
24 K g Sl Bl SEH SEH SEH SEH SEH SEH SEH SEH
1 1,3—vy7un7u~r(D—D)| mg/L 0.05
2 12, 2 -—DPA (¥ 7K v) mg/L 0.08
3 /2, 4—-—D (2, 4 —PA)| mg/L 0.02 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
4 |E P N| mg/L 0.004 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
5 [M C P Al mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
6 |7 X = 7 2] mg/L 0.9 < 0.009 <0.009 <0.009 <0.009 <0.009 <0.009
7|7 + 7 = — I me/L 0.006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006
8 |7 b 5 D | mg/L 0.01 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
9 |7 = = = Z| mg/L 0.003 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
10 |7 N b 7 Z| mg/L 0.006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006
11 [7 5 5! — ] mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
2 4 v % ¥ F 4 v mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
B34 v 7 = v & A mg/L 0.001 <0.00003 <0.00003 <0.00003 <0.00003 <0.00003 <0.00003 < 0.00003 <0.00003 < 0.00003
44y 7w B N7 (MIPC)| mg/L 0.01 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
5 4 Y v F F 5 (1P T)| mg/lL 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
6 4 7 7 = ~ B L N YV U mg/L 0.002
174 7 v X v & 2 (1BP)| mg/L 0.09 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009
84 = s v Y v mg/L 0.006
9«4 v % 7 7 v mg/L 0.009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009
20 = 2 F w H A 7| mg/L 0.03 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
20l 8 7 = v 7 v v 27 Z| mg/L 0.08 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008
2 [ZvFALTZ 7 (R Y = )| mg/L 0.01
23 & ¥ ¥ ¥ 7 v A K | mg/L 0.02 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
24 A& F v v 8 (A B O )| meg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
254 UV ¥ A b v ¥ v mg/L 0.1
26 [ B H = %] mg/L [ 0.0006 < 0.000006 < 0.000006 < 0.000006 < 0.000006 < 0.000006 < 0.000006 < 0.000006 < 0.000006 < 0.000006
21 7 = v A b B — | mg/L 0.008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008
28 |# L 4 > 7| mg/L 0.08
29 [ A~ N U A (N A C )| mg/L 0.02 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002
30 [ SV N 7 7 | mg/L | 0.0003 < 0.000003 < 0.000003 < 0.000003 < 0.000003 < 0.000003 < 0.000003
31 % 2 7 5 2 v (A C N )| mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
32 % ¥ i 4 | mg/L 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
33 |7 3 L = | mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
34 |7 D) R VA — b mg/L 2
35 17 v & ¥ % — B mg/L 0.02
37 v X F w v 7| mg/L 0.02 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
37 e =Fr 7=y (CNP)| mg/L | 0.0001
3817 w A ¥ U k& A mg/L 0.003 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
39V v # e =, (TP N )| mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
40 [ 7 + D | mg/L 0.001 < 0.00001 < 0.00001 < 0.00001 < 0.00001 < 0.00001 < 0.00001
41 & 7 /7 & A (C Y A P )| mg/L 0.003 < 0.00003 <0.00003 <0.00003 < 0.00003 < 0.00003 <0.00003 < 0.00003 < 0.00003 <0.00003
42 ¥ v o~ (D C M U )| mg/L 0.02 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002
43 Y 7 v X = o (D B N )| mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
44 |V 7 o )L R A (D DV P )| mg/L 0.008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008 < 0.00008
45 |V 7 v v N mg/L 0.01
46 [P ALK (= F L F F AR)] meg/L 0.004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004
47 [ F & By N A — R K meg/L 0.005
48 [ ¥ * 5 | mg/L 0.009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009 < 0.00009
49 & N v & v 7 7 F )L mg/L 0.006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006
50 ¥~ ¥ v~ (C A T )| mg/L 0.003 < 0.00003 < 0.00003 < 0.00003 < 0.00003 < 0.00003 < 0.00003 < 0.00003 < 0.00003 < 0.00003
51 ¥ A %  * F U | mg/L 0.02 < 0.0002 < 0.0002 < 0.0002 <0.0002 < 0.0002 <0.0002 < 0.0002 < 0.0002 < 0.0002
52 [ A k - — kN mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
53 [ A b ] | mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
54 |5 A 7 v J | mg/L 0.003 <0.00003 <0.00003 <0.00003 <0.00003 <0.00003 <0.00003 < 0.00003 <0.00003 < 0.00003
55 |# A N = | mg/L 0.8 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008
B Ay b AX LN (H — NN
6w G RF ALY F AL T x— b ML | 001
57 |7 7 ¥ = | mg/L 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
58 |7 v 7 A mg/L 0.02
59 |F *+ P 7 I 7| mg/L 0.08 <0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008 < 0.0008
60 [ 4+ 7 7 X — bk A F | mg/L 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
6l [F 4+ X o~ A 7| mg/L 0.02 < 0.0002 < 0.0002 < 0.0002 <0.0002 < 0.0002 <0.0002 < 0.0002 < 0.0002 < 0.0002
62 |7 7 U b+ U F v mg/L 0.002
63 7 7 (MBPMC)| mg/L 0.02 <0.0002 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
64 |k ] Vi o v | mg/L 0.006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006
65 [ U 7 o o &k » (D E P )| mg/L 0.005
66 F V >~ 27 5 v — )| mg/L 0.1 <0.001 < 0.001 <0.001 <0.001 <0.001 <0.001
67 1 vV 7 A 5 U | mg/L 0.06 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
68 |7 7 = 3 R ;| me/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 < 0.0003 <0.0003 <0.0003 < 0.0003
69 |3 5 a — I mg/L 0.005
70 ¥ 2 = = 2| mg/L [ 0.0009 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
71 ¥ 5 Vi = = ] mg/L 0.01
2 5 v x¥ v 7 = | mg/L 0.004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004 < 0.00004
WBIEIFTYVVXx—Fr(EFY L —F)| mg/L 0.02 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
4l UV ¥ 7 = v F F | mg/L 0.002 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
By vV 7 F hm v 7| mg/L 0.02 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
76 & [ * o > mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
77 |7 4 7 = = vl mg/L | 0.0005 < 0.000005 < 0.000005 < 0.000005 < 0.000005 < 0.000005 < 0.000005
8|7 ==t F 4> (MEP)| mg/L 0.01 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
97 =771 7 (BPMC)| mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
80 |7 - U N M | mg/L 0.05
81 [7 = v~ F # ~ (M P P )| mg/L 0.006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006 < 0.00006
82 |7 = v F = — F (P AP )| mg/L 0.007 < 0.00007 < 0.00007 < 0.00007 < 0.00007 < 0.00007 < 0.00007 < 0.00007 < 0.00007 < 0.00007
8 |7 = ¥ b+ 7 # I K| mg/L 0.01 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
84 |7 H 7 A ;| me/L 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
85 |7 4 Vi = — | mg/L 0.03 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
86 |7 4 N = 2| mg/L 0.02 <0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 <0.0002 < 0.0002 < 0.0002
87 |7 7 w 7 = ¥ | mg/L 0.02 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 < 0.0002
88 |7 L 7 D + A mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
89 |7 v F 5 7 v — )| mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
9 |7 = v N r | mg/L 0.09 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009
91 |7 o ¥ %+ N 2| mg/L 0.007
92 |7 v v = F Y — )| mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
93 |7 =1 = # 3 F| me/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
94 |7 ®wm X 5 v — | mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
95 |7 = £ 7 Ea F| me/L 0.1 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
96 [~ J 3 ] mg/L 0.02 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
97 [~ v D Vi = | mg/L 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
98 X v v v v 7 v | mg/L 0.09 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009 < 0.0009
9 X v v 7 = F v 7| mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
100 [ v X M | mg/L 0.2 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
L~ v F 4 A % U v mg/L 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
02~ v 7 5 5 N 7| mg/L 0.02
03 (X7 Iy (X2 Y ) mg/l 0.01 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001 < 0.0001
< +v 7 L ¥ — H mglL 0.07 < 0.0007 < 0.0007 < 0.0007 < 0.0007 < 0.0007 < 0.0007 < 0.0007 < 0.0007 < 0.0007
05~ =2 F 7 ¥ — B mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
06 [~ 7 F 4 v (~ 7 Y v )| mg/L 0.7 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007 <0.007
07 A2 7 vy 7 (MCPP )|l mg/L 0.05 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
108 [# v 3 | mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
109 [# 4 7 * D | mg/L 0.2 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002
1HOAF ¥ F A (DMTP )| mg/L 0.004
Hilx ~ = 7 A F v £ | mg/L 0.04 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
112 [# b j 7 D | mg/L 0.03 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003
1A 7 = F ¥ v K mg/L 0.02 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 < 0.0002
114 [A 7 o = | mg/L 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
115 [& U ES — I mg/L 0.005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005 < 0.00005
B 3 3
(B M L BB o o fl) ! 0 0 0 0 0 0 0 0 0




